DO NOT OPEN THE SEAL OF THE BODKLET UNTIL YOU ARETOLD TO DO SO
mgﬁmﬁrﬂmnﬂmﬂﬁlﬁmﬁmﬂm

JDD-10/LIBN/X-14

Write here Roll Number and Answer-Shest No.
wET FHIE W T - wfre e T

M

Serial Wo.

284711

Lﬁq_:iﬂlg B, Gand

Roll No./ SqwaTs
Answer-Sheel No./ ¥ - wea

Time Allowed : 2 hours  OBJECTIVE TYPE ONE-TIER EXAMINATION  Maximum Marks : 200
FHifia g 12 HE mﬁﬂm—ﬁ“‘ﬁﬂm AT 1 200
Read the following instructions carafully befors you begin to answer the guestions.

T F I F G e AN R s e A T |

IMPORTANT INSTRUCTIONS TO CANDIDATES Toftean & o TEEYU HTEm
. ‘This Bookiet contains 200 quastions in all comprising th = .
folowing Saclions : bl ¢ 1. i e 200w 8, el feafedi amomii B
Sacfions Tast Comocmants A ﬁ"-:'m F:hli“ Yy ey S VT T AT | e
L] § || Camensd Swairnrsis a1 =7 (a1} 0| oer - =0 i
il | Ganmni imallgunes s i ih'ﬂ-'l:ﬂ']ﬁ"ﬁl‘l'rﬂﬂ
Fsasmning 20 =13 GaliE 1 e ) 0 H=13
@) | Aritheeotioal snd Mimenoe Ay 20 =17 s T - r
) | Testof Lercisgn - Hina o0 TH =10 Hp T 4] m 1d~17
%) | TesickLn ; 20 20 = 21 Il | v st R 2n 18- 10
i Pt Bpashe Sci oo w] | v i ;7 =at] 28~ 3
vzt Mo ) 247 WY | e e B o 100 r—

2
3

B

M cunsliors ane oargudEnny and camy squal matm

The paper carries nagatlve markings. Far ooch wionyg
armwor BES marks will s deducted,

n case of any desorepandy Betwoen tha Engiish and Hinol
vermions of &hy quastion, e Enplish varsken wil bo frogisd
a3 fingd'auihandc.

OMA Angwar-Bheit is anckiesd in th Bookist You it
complate the detain of Aol Mumber, Qusstion Eookisl Ma,,
eo., on the Anwser-Sheel pnd Answe-Eheal No, an (s
RpacE pevided above v (s Ouestion Ssokded, bafors you
actunlly ‘staf answarlng e quastons, failing wheh yaue
Angwar-Sheet will nod be svaluated and oo will be awasds
FEAY mark,

¥ou mist naf baar off o remove any nhoat from ihs Boosde
The Angwer-Bhaat must b8 harded over in iha Invigilatar
baloee v lesva she Exasmination Hail,

+ Upg af ColcuiwionPalmiap/Laptopiher Digitad instamenp

Mabl'Ceall Prona'Fager = not allowan

. Cainchols les boumo quidey o mesconcuctiusng urdnir maans in

the Exarminafion Hall wik be fiablo for approprale panaidegal
achon

Tha mannar in which dfamsnl guastions a b be anvsened
bas Gean éxplained af the back of this Booklst, which you
2rwiild road carhilly bafons aotually anmwscng e quastions

- Ne Aough Work is to be done an the Answer-Sheat,

&

&

e

adl ws HEAE e e e =

WO W TR S T W e T &

.35 37 WTH =mE |
it et we & fidt ey i) s 4 9 o B s
aa w el smm T

. T -yl w0 s - e b | e e

TR B T W 7 e e 7 e T,
Yjfeenn s, genThie et g e e & et foom eng
o T - e o G 0 S e el o wt
ST W i ape sne fray ey |

T TR 8 W T e A e e T b | ol
WA T R Tt e ¥ prd w
ek et e B e e i TR
LR G e D

IR~ vier3 o v e v e % o el s o s
yfrwem FEfry At it & s
hﬁwwﬂtm#ﬁﬁﬁﬁwgﬁ#r%ﬁmgﬁéﬁﬁh
W ord &, i e S A 0w e A

w1 v W T - e o A w8

Go through instructions given in Page No. 48 (Back Cover Page)




SECTION - A
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i} General Awareness

In which game Gold medallists

. Deepika Pallikal and Josna

Chinnappa are associated with 7
(A) Tennis

(B) Squash

(C) Table Tennis

(D) Badminton

Who has been appointed recently by

Telengana  Chiet  Ministar
K. Chandrashekhar Rao as the
State's brand ambassador ?

(A)  Azaruddin

(B) Prabhudeva

(C) Sania Mirz}

(D) Balamurali

Expansion of WTO Is

{A) World Travellers' Organisation

(B) Weorld Trade Organisation
{C) Werld Tourist Organisation
(D) MNone of these

20th Commonwealth Gamas 2014 s
recently held In

(A} Scotland
(C) Sri Lanka

(B) Canada
(D) Australia

. Who took over on 31-7-2014 as the

new chief of the 1.3 million strong
Indian Amy 7

(A} General Bikram Singh

(B) General Dalbir Singh Suhag
(C) Arun Jaitiey

(D} Rampal Singh

6.

10,

What does an antigen do ?

(A} Destroys harmful bacteria

(B} Isused to treat poisoning

(C) Lowers body temparature

(D) Stimulates formation of antibody

Among the following which planet
takes maximum time for one
revolution around the sun 7

(A} Earth (B} Jupiter

(C) Mars (D) Venus

Teachers' Day is observed on 1.
(A) 1% June |
(B) 315 March '
(C) 5™ September

(D) 28™ January

Who among the following was
appointed as Chairman and
Managing Director of recently
gstablished “Bharatiya Mahila Bank™ ?
(A) Arundhathi Bhattacharya

(B) Usha Anantha Subramanian
(C) Usha Thorat

(D) Shikha Sharma

Whao s the present Vice President of
India 7

(A) Hamid Ansari
(B) Pramod Mahajan
(C) Anna Hazare
(D) Kiran Bedi




12,

13

14.

15.

ﬁi

The First Battle of Panipat was
between the forces of

(A) Akbar and Hemu

(B} Abdali and Marathas

(C} Humayun and Sher Shah Suri
(D) Babar and lbrahim Lodhi

Which of the following has gol more
heat capacity 7

{A) Iron piece

(B) Water

(C) Gold plece

(D) Benzene

Who made India's first indigenous
feature film (Yilent) Raja
Harischandra 7

(A} Bimal Roy

(B) Raj Kapoor

({C) Dada Saheb Phalke

(D) Satyajit Ray

Who wrote National Anthems of both
India and Bangladesh 7

(A) Rabindranath Tagore

(B) Bankim Chandra Chatterjea
(C) Pt. Ravi Shanker

(D) Swami Vivekananda

Tamasha is a socio-religious folk
theatre of

(A) Bengal

(B) Guijarat

(C) Tamil Nadu

16.

17,

18.

(D) Maharashtra

18,
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is the capital of Tripura.

() Dehradun

(B) Agartala
(C) Gangtok
(D) Kohima

How many permanent members are
there in the Security Council of UNO 7
(A} 5
| 7
{C) 10
(D) 12

The book “Discovery of India” was
written by

(A) Pt Jawaharial Nehru

(B) Mahatma Gandhiji

(C) Vallabbhai Patel

(D) Arundhathi Roy

______Isadevice to detect objects of
tar off distance and for determining the
direction and distance between the
object and the observatory station.
(A) Laser

(B8) Sonar

(C) Solar

(D) Radar

A person to become a voter in Indian
General Election must attain
years ol age.

(A) 21

(B) 18

(C) 16

(D) 20




5

21

JOD-10/LIBN/X-14

ii) General Intelligence and Reasoning Ability

Laxmi ranks twenty-first in a class of
fifty-one. Whiat is her rank from the last ?

(A) 31
(B) 30
(c) 21

(D} a2

In a certain code "PRAMOD" is
writlen as "RTCOQF", How can
"KISHAN" bwritten in that code 7

(A) NAHSIK
(B) LJTIBO
(C} MKUJCP

(D) MKSHCP

‘W’ is in knowledge In the same way
as'h isin

(A) house
(B) honest

(C) hope

(D} horse

Directions (5. 24 1027) : In each question,
three alternatives are alike in a certain way
and so form a group. Which is the one that
toes not belong to that group 7

24, (A)
(B)
(C)

(o)

25. (A)
(B)
(C)
1=

28. (A}

(B)

<)
(D)

27. (A)
(B)
()

(B)

Sparrow
Dog
Crow

Eagle

Light weight
Heavy weight

Papar weight
Feather wuight

Servant o
Lomd

King
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ki

i
te 28. It is possible to make a meaningful 31.  Which of the following will come next
’ word with the '|'h||'d, the fﬂlﬂ'ﬂ"l.. the ﬁl’lh. in the series uhrﬂn hﬂlﬂ"ﬂ' 7
. the seventh and the tenth of the word ha it o ?
PERSOMALITY, write the first letter shg, rif, gje, pkd,
of that word (A) omc
A O (B) olb
B T (C) ole
) S (0} onc
{0y R

32. Which of the following would appear
29. Six students are sitting in a row. K is y

sitting between V and R. 'V is sitting earlier in a dictionary 7
nextio M. M is sitting nextto B. B is 1. inculcate
sitting orfthe extreme left and Q is

sitting next to R, Who are sitting 2. Indicate
adjacent to V' ? 3. incomect
(A} MandK 4. Initiata
(B} BandQ B hiicn
(C}) QandK ——
(D) KandR A Todice
(B} inactive
30. Srikant is shorter than Nilima. (C) Inculcate
Prathima is taller than Srikanth. (D} incorrect

Subhash is taller than Nilima but
| shortar than Herumb. Nilima is taller
| than Prathima. Who will be in the 33. ‘Ancient' is related to 'Modem' in the

middle if they stand in a row accordi
| ¥ e same way 'cold’ is related to

to helght 7

(A) Srkant (A} calm
(B) Nilima (8} gold
(C) Prathima (C) wealth
(D} Herumb (D) warm

A




34

Il '+ means 'x", "= means ‘4", ¥
means “+', + means -, then

{18+ 10x20)~B+6="7

(A 35

(B 18

{C) 26

(D) 2

It Sripad is taller than Chandu, but
shorler than Raju, and Chandu Is just
as tall as Dilip but taller than Ashok,
then Dilip

(A} taller than Raju

iR} shorter than Ashok

(C) shorter than Sripad

(D) none of these

Leela goes 3 km to the North, from
there goes 2 km to the East, from there
goes 5 km to the South. In what
direction is she now from her starting
point #

(A) Naorth-East

(B) South-East

i) North-West

i0) South-West

37.

40.
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A and B are brothers, C and D are
sisters. A's son is D's brother. How is
B related 1o G 7

(A) Father

(B) Grand father

(C} Brother

(D) Uncle

In a certain code language '743'
means “Mangoes are good” ‘657
means ‘Eat good food' and '934°
means "Mangoes are ripa” which digit
means ‘ripe’ in that language 7

(A) @ B) 4

(C}) 5 oy 7

Which Is the ane that does not belong
to the group to which the other three
bslong 7

(A) WViolin

(B) Flute

(C) Guitar

(D) Veena

‘Big' Is related to 'small’ in the same
way as ‘tall' is related 1o

(A) high
(B) tail
(C) short
(D) take
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ili) Arithmetical and Numerical Ability

II‘\IE=E.H=T
x 36

(A) 144
(Cy 64

(B} 84
oy 12

Five years ago, the average age of
A, B, C and D was 45. What is their
total age now 7
{A) 1BO years
(B) 200 years
(C) 210 years
(D} 180 years

How many committees of 3 teachers
can be meda from a group of 5
leachers 7

{(A) 10 (B) B0

{C) 20 (D) 15
V324448
JE + uﬁ_{ a

(A) J2 B 2

(C) 4 (D) 8

The market value of a share of T 100

is ¥ 120. Rate of dividend declared is
10%. i a person Invests T 24,000 in
this share, how much dividend he
gets in that year 7

(A) 72,200
(B) 2,500
(C) 2,000
(D) ¥1,200

A4-

46

47.

Find the compound interest for
1,000 at 10% for two years.

(A) 2210
(B) T 200
(C) %220
(D) T215

If the parimeter of a circle |s 88 cm,
find its area.

{(A) 17B8sg.cm.

(B) 284 sqg.cm.

(C)
(D)

616 sq.om.
352 sg.cm,

On a tour, a man traveis al the speed
of 64 km/hr for the first 160 km, then
travels the next 180 km at the speed
of 80 km/hr. What is the average
speed in km/hr for the first 320 km of

the tour 7
A 72 ®) 715
© 70 ©) 75

Which of the tollowing fraction s the
fargest 7

47 47
(A) =5 B &

47 a7
(C) i (D) I




50.

B1.

. 52

53,

54,

55.

it 12 workers by working 7 hours a day
take 28 days to complete a work,
14 workers by working 4 hours a day
take how many days 1o complete the
same work 7
(A) 42

(C) 24

(B) 40
(D) 30

fd4x=T7yand2y=3z, x:2="7
A 821 (B) 21:8
(CY 4:3 Dy 7:3

Alter Jeevan gave T 12 to Hareash
and Hareesh gave ¥ 4 to Jeevan, both
had equal amounts with them. Who
had the smaller amount Initially and
by how much ?

(A) Jeevanby ¥ 4

(B) Harggsh by ¥ 12

(C) Jeevanby ¥ 8

(D} Hareesh by T 16

H.C.F and L.C.M. of two numbers is
7 and 12 respactively. If one of these
numbers is 4, find the other one.

(A) 21 (B) 18
{C) 18 (D) 20

Sum of all the natural numbers from
1025 Is

(A) 320
{C) 325

(B) 250
(D) 450

In a group of 420 people some speak
English, some speak Kannada, some
speak both. It 160 can speak English
only and 130 can speak both
Kannada and English, how many can
spaak only Kannada 7

(A) 130 (B} 140

{C) 150 (Dy 160

57,

59.

60.
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Glve the fraction equal to 12%%

(A)

|+ ol

© 16

The slant height of a cone is 10em. If
its diameter is 14 cm, find its curved

22
surface area. [“=?]

(A) 200 sg.cm,
(B) 220sqg.cm.
(C) 250sg.cm.
(D) 180sqg.cm.

What will be 30% of a number whose
0% is 54 7
(A) 36
(C) 12

(B) 72
(D) 18

The angles of a guadrilateral are in
the ratio 3: 4 : 5 : 6. Find ils greatest

angle.
(A) 120° (B) 1007
{C} 10° (D) 130°

The order of matrix A s 2 x 3 and order
of matrix B is 3 x 5. Then the order
the matrix obtained by multiplying A
by Bis

(A) 3x2
(C) 5x3

(B) 2x5
(D) 6x8
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ik iv) Test of Language : Hindi
f : mﬂﬂﬁiﬂﬁ—‘iﬂ
\ EEF Frferfian uet & s g Tl | 68, 'gu FEmE Wi qEEl e
| | 61. ‘vaa’ wea w1 (A) FfFm T (@) et fta
'm: gt (B) W (C) EMEEH A (D) = 9T
e YR g9, ‘et e Fzon B ownd s
62, Fehel] I1ea w1 faeTH e a2 2
' 95 S P (a) @ B)
I i " ) =3 (D) ™™

63, “HUA T I HUTEE IeE
70. Tl anfaren & ‘u’

(A) E;ET (B) TH
(cy winm o) fawm & sman e |
64. ‘29" AFFIH e 2 | i (®) W
(A) 3¢ B) (C) == (D) HFFmE
(Cy =% Dy * 71, @S
g5, ‘T e v A e (A) = (B)
(a) et B B (©) whe D) FHE
(cy Fmm oy Fredl I |
1 72, W a2 1 qEHH |
66 B5 wifemid Al A 5 @
(A) (8) W h
cy famm D) T © # (o =
57. ‘el wisrw s mowy 73 0 TSR
(A) (B) & (A) = B) #

(C) wniEe (D) e (C) ® (D) & fem




74, A1 3 T F Fw wwi
SRR |
(A) - Tk (8)
C) = (D) Ffom

75, H@E! I8 F1 agaad
(A) wwEl (B) =i
(c) =fa (D) wiE

Fraferfin siee Taw 30 W T v
3w ferfian | A

A = T sfee 0 @ wEdE # ey
e =1 e | a3 T T e g
i et & veithea F  afas g1 |
TR H w0 # e e i w5
T TR AT e F T
W | sfterE 3 st e A werEn  Ra o
o1 #1379 3= Then & fom o5/ - miigw
BEgE 4 | i Y 1912 § s e

Ao Hraftmom R

76. T fafi e d med $om e
Bt
(A) TERTEIA (B) et 3
(C) TEETEY (D) HwmEd

¥B.

79.

BO.
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wiimr <t 3= fiven = fore 25/ - oEafa
B3t
(A) T

it e & o s 1wt frm 7
(A) UETRE FeH

(B) WEWETHEE

(C) W et

(D) D

e 3 i v ol
e i |

(A) 1913

(B) 1925

(C) 1912

(D) 1914

e 7 e meweE
w1 e e o

(a) #
B8) &
(C) % foru
Dy 3
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g v) Test of Language : English

STTHT TSI @ STt

Directions (Qs. 81 to85) : Read the passage
caralully and choose the best answer to gach
guestion out of the four altematives.

There is no good reason why people should
tire more easily as they grow older. Constant
fatigue is not normal at any age. | belisva
that It is caused largely by dietary
deticigncies, People who eal natural foods
are not likely to feel tired. An abundance of
B vitaming 15 most important in outwitting
fatigue because they contain ‘thiamin'
necessary for boundless energy, In other
words B vitlamins provide the spark which
releases the energy from the foods we eat.
One type of fatigue in older people may be
caused by inadequate amounts of protain
foods. Proteins, as we know, contain the
aming acids which manufacture the
anzymes necessary for the production of
enargy Itis amazing how many older people
still eat only one or two small portions of
good protein foods daily  This is in spite of
the tact that more than any other foods,
profeins are necessary for muscles, glands
and anargy production Bul it is equally
important 1o relax and laad wherever
possible, a tension-free life. The wise ones
have learmned by experience that there are
two sacrets lor living and working without
strain, without knowing the meaning of
fatigue. These two secrets are : a balanced
vitamin-and-mineral-rich diel, and the an of
relaxation

#1. Fatigue is generally caused by
{A) old age
{B) poverty
(C) dietary deliciencies
(D) excess of enzymes

i
,-,ﬁ

g2. B-Vitamins are a source of halp In
overcoming latigue because
(A) they make us lired
(8) they contain ‘thiamin
(C) they help 1o relax
(D} they oppose lension free life

B3 Inadequate amount of protein loods
(A) produce boundiess energy
(B) are necessary for to grow older
(C) cause one type of fatigue in older
people
(D) none of these

84, To overcome fatigue, along with the
consumption of protein food, itis also
necassary to
(A} work with strain

(B) to know the meaning of use of
fatigue

(C) toavoid B-vitaming

(D) torelax and lead a tension free life

85 The function of enzymes is
(A} o produce enargy
(B} tocause fatigue
(C) to produce protein
(D} none of these

Directions (Qs. 86 to BB) : Choose the
atternative which means maost nearly the
same as the word given in capital letters.

86. TESTIFY
(A} terrify (B) tease
(C) witness (D) desire
B7. HAMPER
(A) obstruct (B) enter
(C) hate (B} humour
B8, FOSTEHR
(A1 falter (B) taste
(C) nourish (D) separale

.f
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Directions{Cs. 89t091) : Inthese questions,
each sentence is divided into three parts (A},

{B), (C). Find out which part has the error. If
there is no arror your answer will be (D).

89. Columbus, a great sailor (A)/ had

o1,

discovered America (B)Y more than four
hundred years” ago (C)/ Mo errar (D)

| had been reading (A)/ this book for
two hours (BY before he arrived (C)/
Mo emor ()

She is planning (A) 1o go to New York (BY
but she has changed her mind (C)/

Mo error (D)

Directions (Qs.921096) : Inthese questions
sentences are giveg with blanks to be filled
in with an appropnate word. Choose the
correct alternative oul of the given four

' alternatives.

82. Gowrl's hear at the sight of
the beautiful jewellary.
(A) leapt (B) stopped
(C) slowed (D) breaks

93, Rajanikant was far his
blasphemous statements on the
religious leaders.
(A) excommunicated
(B) applauded
(C) congratulated
(D) saluted

94, Helsso _ 1o light that he never

leaves the house wilhout sunglasses.
(A} Insensitive (B) sensitive
(C) Immune (D) sincera

1=

g5,

98.

97.

99,

100.

i |

The expendilura
pone up during the last ona month.

— milk has

(A) at (B) to
(C) by (o) on
He ___through the nose for the

delay in taking timely action.
(A) said (B) saw
(C) paid (D} got

The word oppositeé in meaning to
“abundant” is

(A) plentiful (B}
(C) ingreat gquantity (D)

rheago
absent

The plural of 'knife' is
(A}  knifes (B)
(C) knife (D) knives

knaves

"Who is ha 7" — This sentence 15 an
exampleol __ sentence
(A} Exclamatory sentence
(B} Assertive sentence

(C) Interrogative sentence

(D} Imperative sentence

What type of noun is "Vimala' ¥
(A) Proper noun

(B} Collective noun

(C) Materal noun

(D) Abstract noun

e
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102,

103,
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SECTION - B
Post Specific Subject-Related Questions

Which law of library science is related
with the growth of the libraries 7

(A) Fourth Law

105.

What is the meaning of inter library
loan 7

(A} Loan of library

() First Law (C) Loan of monay
(D) Fifth Law

Tha name of the journal published by
DRTC is

{A) Indian Library Science Abstract

(B) Library Science with a slant to

108,

(B) Loan of books from other libraries

Shared cataloguing is an exampie of
(A} union catalogue

(B) centralized cataloguing

‘dmun'-entatlun (C) resource sharing
(C) Annuals of Library Science and (D) inter library loan
documentation
107, I
(D) None of the above Regression analysis in concemns with
prediction of
Resource sharing is a part of (A) Independent variable
(A) Ubrary Cooperalion (B) Dependent variable
B) Library Administration
(8) ay (C) Constanis
{(C) Library Management
(D) None of these
(D) Library Cataloguing
108. Inter Library Resources Centre

What is the modified and developed
name of library cooperation 7

(A) Cooperative working

(B} Resource sharing

(C} Library networking

(D) Cooperative library

established in India al

(A} J.NU. New Dalhi

(B) MNational Information Centre
(C) INSDOC

(D) DELNET




109. The person who first started to work
for library development in India Is
(A)
(B)
(C)
(0} Viswanathan

Ranganathan
Dikinson
W. Borden

. 110. FID was founded by
(A)
(B}
(C)

(D)

Paul Otlet and Herri La Fontaine
Ranganathan and Bhattacharya
Venkataraman and Nealaeghan
Sayers ar¥ Batty

111.  Which of the following is not a part of

rasourca sharing 7
(A)
(B
(C)
(D}

Acquisition of Books
Circulation of Books
Parsonnel Management

Collection Managemant

112

Library movement in India was
started in the year

(A)
(B)
(C)
o)

1800
1805
1810
1815

113.

114,

11'EI

115?
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Staff exchange is the part of
(A)
(B)
(C)
(D)

resource planning
personnal managemeant

cooperative cataloguing
inter library loan

What are the first component of a
Library Act 7

(A)
(B}
(C)
(D)

Finance
Library Commitiee
Praliminaries

Top Management

Library Technology Reports |s a
publication of

(A) ILA

(B) ALA

(C) LA

(D) IASLIC

Which has made Library Network
very conveniant 7

(A) STAR networking
(B) Computer

(C) Information Technology
(D) INFLIBNET
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117. Theacronym FID stands for 121, Inwhich State of India, the first Public
(A} International Federation for Library Act in 1948 was passed ?
Documantation (A) Tamil Nadu
(B) Federation for Information and (B) Maharashtra
Documentation

(C) Karnataka
(D) Andhra Pradesh

{C) International Federation for
Information and Documentation

(D) None of the above 122. The oldest and largest library
118. What do you mean by Library Act ? association in India s
(A} Itmeans to prepare law (A) LA
(B} It means to prepare format of law (B) ALA
or legislation (C) ILA
(C) It mgans to make library services (D) IASLIC
compulsory
(D) It means to prepare rules for | 123. Which was the first Public Libraries
libraries Act in India ?
area of Act
(A) Library functions {B) Madras Public Libraries Act
(B)  Library material (C) Kamataka Public Libraries Act
(C) Library users (D) Maharashira Public Libraries Act

(L) Library services

124. Why was Lal Committee mainly
120. Exchange of documents among

libraries |s called
(A) fibrary networking

selup?
(A} University Libraries

(B) resource sharing (B} Higher Education

(C) Inter library loan (C}) Library Training
(D} circulation service (D} M.Lib. Science

A -26-




125. How many Indian states have passed
Library Legislation 7

(A} Eight
(B) Nine
(C) Ten
(D) Eleven

126. Which of the following is the largest
and oldest Library Association in the
world 7
(A} Indian Library Association
(B) American Library Association
{C) Library Association (LK)
(D) IASLIC 3

127, What course in Library Science is
being imparted by DRTC 7
(A) B.Lib.Sc. Degres
(B) Master Degree
(C) Research Degree
(D) Associateship

128. What was the original name of British
Library Association 7
(&) BLA
(B) Library Association (UK)
(C) Association of British Library
(D) Library Association

|'h 3

129,

130.

131
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What is called the National Library

Association 7

(A) Association of library personnels
of national level

(B) MNational level association of
persons engaged in library
profession

{C) Association of library personnels
of s0 many nations

(D) An association of library

personnels whose leader is of

national level

Whit is the name of quarterly journal
of ILA 7

(A} ILA journal

(B) ILA bultatin

(C) Library literatura

(D} Quarterly journal of ILA

HReading centres, story hours,
exhibitions and reading to iliterates
are forms of

(A) extension service

(B) service of a public library

(C) both (A) and (B)

(D} noneof the above
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132  The model Public Library Act was 136.  Which of the foliowing has Iis
presanted by S.R.Ranganathan in objective to get maximum output ?
1830 at (A) personal planning
(A} Aslan Educational Conference (B) management
(B) Andhra Desh Library Associafion (C) industrial administration

Conlerence -
(D) public administration

(C) India Public Library Confarence

(D) Madras Library Association 137. Whe propounded management
Conlerence theory of human relations 7
Al A, Moslo
133. Mame the State which does not have () e
library legislation 7 (8) E Mayo
(A) Kerala (C) MecGregor
(B) Uttar Pradlesh (D} E. Herzberg
\G) Haryana 138. Who classified sclentific principles
(W) Kamatua of management with library
134, Exiension service is a special management ?
feature of {A) Ranganathan
(A) university library (B) E.J. Evans
(B) college library (C) B.P. Singh
(C) public library (D) Derik Austin

(D) all the libraries
139. The pramier institution for prescribing

135, Which term was coined by standards in India is
Ranganathan for mobile library 7 {A) Institution of Indian Standards
(A} Moving library (B} Unlversity Grants Commission
(B) Library on wheels (C) Indian Standards Informatiof
(C) Librarchine Centre
(D) All the above (D) Bureau of Indian Standards
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A

What is esprit de corps 7 144. Whather different types of

(A} Team work
(B) Collective work
(C) Personal work

(D) Functional work

Who has right to take decislons in the
lioraries 7

(&) Al the workers of the llbrary

(B) Incharges of sactions 145,

(C) Librarian
(D) Assistant librarian

What are ¢he guidelines for planning
of a library system 7

{(A) BIS standard
(B) Five laws of library sclence
(€} Law of interpratation

(D) Principle of csmosis 148.

What is the meaning of

organisational structure of the

libraries ?

(A) Structure of the library

(B) Strugture of the parental body of
the library

(C) Structurs of library bullding

(D) Blue print of the structure of tha
library

JDD-10/LIBN/X-14

organizational charts are meant for
different types of librarias 7

(A) Yes

(B) No

(C) Separate for each library

(D) None of the above

If management I8 the spirit of
organization, then what Is organization
of library 7
(A) Head
(B) Heart
(C) Splrit
(D) Brain

Which of tha following is not the

characteristic of a periodical

publication ?

(A) 'Itis a regular publication

(B) It appears in parts or volumes &
regular Infervals

(C) It has a distinguishing numbers fod
each successive volume

(D) Al of the above



147

148,

149,

150.

Which of the following pairs is not

correct about the types of books 7

(A
{B)
(C)
(D)

General and Relerence books
Simple and Composite books
Single and Reference books
Hand books and Text books

The team planning for library building
consists of

(A)
(B)
(C)
(D)

the library authority
the librarian

the architect

all the above

Acquisition work of the documants
comprised

(A}
(B)
(C)

(D)

selection and procurament
selaction and accessioning
selaction, procurement and
technical processing

selection, procurement and

accessloning

Standards and specification should
be collected by the libraries of

(A}
(B)
()
(D)

political field
social field
academic field
industrial field

151,

152.

153,

154.
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The 3 cards system is mainly used in
the libraries for

(&) circulation of books
(8) serial selection

(C) book selection

(D) acquisition and control of serials

What is the chief record in the llbrary ?
{A) Catalogue

(B) Accession Register

(C) Collection Register

(D) Shelf List

The main usa of Sheif List in tha
libraries is

(A}  book selaction
(B) circulation

(C) cataloguing

(D) stock verification

What Is third one in the trinity of a
library along with users and
documents 7

(A) Staff

(8) Material
(C) Building
(D) Workers
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156.

157.

158.
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Who establishes comact of the users
to the documents 7

(A)
(B)
(€
(D)

Referance Service
Catalogue
Bullding

Staff of the library

The process which means to employ
persons to work in an organization to
fit into positions with a well defined
|ob description is

(A)
(8)
(C)
(D)

selection
recruitment
service®
employment

Cost-benefit analysis is
(A)
(8

finding out value for money

repaymeant of loan
(C)
price
(D)
benafit in relation to input

What is the main source of income for
public libraries 7

(A) UGC

{B) Library cess

(C})
(D}

Govermnmeant
Gifts / donations

performance evaluation based on

selling costly items at reasonable

performance evaluation based an

159,

160,

161

162
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In library science, what is the

meaning of marketing 7

(A) selling of library products

(B} selling of books

(C) selling of library services

(D} selling of library products a
services

What is the most important element

of organization of the libraries 7
(A)
(B)
{C) Finance

(D)

Library
Library building

Report

Library Is the heart of the institution
according o

(A) D.S. Kothari

(B) Mudaliar

{C) 5. Radhakrishnan

(D} C.D. Deshmukh

The term library is made of the word
(A) Liber

(B) Libra

{C) Libre

(D} Liberate
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166.

A=

What is called the library which is
established by the
government at a central place 7
(A)
(B}
()
(D)

cantral

Central library
National library
Public library
Central public library

The library for the peopla, of the
peoplé and by the people is called

(A}
(B)
(C)
(D)

General library
Personal library
Par::gla library
Public library

What is the correct categorization of
libraries 7

(A) Public, Academic, Special

(B) Public, Academic, Personal
{C) National, Reglonal
Intarnational

(D) Public, Specific and National

Public libraries are the gift of
(A)
(B) The English
(C) Congress Party
(D) Kingship

Democracy

and

167.

168,

1689,

170.
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Informal self education is possible by
which kinds of libraries 7

(A) Public librares
(B)
(C)
(D]

Mational libraries
Sehool libraries
College libraries

Who was the first librarian of New
Imperial Library 7

{A) Harinath Day

(B) W.Borden

(C) MacFarlane

(D) B.S. Keshvan

Which Clause of the Constitution of
India Is related with the establishment
of Natienal Library 7

(A) 28
(B) 50
(C) 62
(D) &7

Undar which Act, National Library of
India recelves book 7

(A) Registration of Books Act, 1887
(B) Delivery of Books Act, 1954
(C) The Copyright Act, 1985

(D) Revision Act, 1976



171. Which one is not the function of a
Mational Library 7
(A) It collects all

published in the country

publications

(B)
()
(D)

It publishes naficnal bibliography
It represents national bibliography
It provides assistance to all
libraries of the country

172 Which one of the following is not the
characteristic of the national library 7
(A)

(B)

It is central library of the country

It is‘spansnrad by the grant of
central government

It is only copyright library
Its readers are the specific persons

(C)
(o)
of tha nation

173. What iz the name of National Library

of USA 7
(A)
(B)
(G
(D}

American National Library
Library of Congress
Library of Amarica
Mational Library of USA

174. Who opened National Library of India

frae for the public 7

(A} Dr. Radhakrishnan
(B) Pt Jawaharlal Nehru
(C)
(2

Dr. Rajendra Prasad
Maulana Abul Kalam Azad

A"

175.

-40-

176.

177.
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What should be the main aim of a
collage library 7

(A} Promotion of researches

(B Promote the reading habils o
students

(C) Satisfy the entertainment naedsg
the students

(DY  Support the teaching programme
ol the college

Who has been generally the
secretary of library committees in
academic libraries 7

(A} Principal

(B} Hegistrar

(C) Librarian

(D) Professor Incharge

The aim of which type of librarles is
to promote lhe academic and
researchistic needs of the users ?
{A) Public library
(B) College library
(C) Special library

(D) University library
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180.

181.

Which one is not the aim of school
libraries 7

(A) Make the students literate

(B) Awake the intellectual power of the

sludents

(C) Make the moral character of the

students

(D) Awake the ambition of sports of the

studemnts

What are called those libraries In
which services are fully automated and
all resources are in digitised form 7

(A} Virtual libraries

(B} Digital libraries

(C} Electronic libgries
(D) Libraries without walls

The library for blind and handicapped
located at Dehradun, what kind of
library is this ?

(A} Public library

(B) Special library

(C) Academic library

(D) Blind library

The library with litlle or no physical
process of reading materials, reading
space or supporting staff is called
(&) Virtual library

(B) Library without walls

{C) Digital library

(D} Computer library

182.

1B3,

184.

185,

(€}
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Thosa who come to make use of the

libraries are called

(A) Members of the library
{B) Readers ol the library
(C) Users of the library
(D} Scholars of the library

What is used in accessing a virtual
library 7

(A} Check card

(B) Bottom card

(C) Hyper card
)

Identity card

What was the main alm and important
problem of the libraries today, which
has been solved by digital libraries 7

(A) spacing problam

[(B) problem of sources
staff problem

working problem

VWhat does initiation of readers mean ?

(A) Beginning
(B) Understanding
(C) Orientation

(D) Knowledge
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186. What are the methods of user's
studles 7
(A) Measurement of use
(B) Surveys of the users
(C) Community profiles

(D) Al the above

187. Opague paper IS _paper.
(A} White
(B} Ultra white
({C)} Transpgrent

(D) Non-transparent

188. What is User's study 7
(A)  study of library
(B} study of the users of tha library
(C} study of utility

(D  study of the needs of the users

189, In which type of libraries, surveys of

the users, have been very useful 7
(A) In public libraries

(B} In university librares

(G} In academic and special libraries

(D) In special libraries

1580,

191.

192,
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According to UGC Library Commitiee,
the librarians are grouped under which
category of library staff 7

{A) Professional

(B} Semi-professional

(C) Administrative

(D) Academic

Who are academic users of llbraries 7

(A) students only
(B} students, teachers, researchers
and public
(C) students, teachers  and
researchars

(D} teacher only

Why it is essential o study user's

need for Information ?

(A) to assess the needs for books o
users

(B) toassess the needs for periodicals
of users

(C) toassessthe needs forall reading
materials of users

(D) to assess their approach o seel

the use of documeants
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193. Surveys of the users of the libraries 197, What must be essential in member

are conducted for what 7 libraries for sharing in networking
(A) to assess the Information system?

gathering habits of users (A} Ambition of cooperation
(B) 1o assess their approach to seek (B) Eamesty of actively engaged

the use of documents
C) BothA&B
(C) toassess the extant of reliance of ©
collection in libraries (D} None

. (D) all the above
188. Now-a-days what is the meaning of

194, Which organization prepared the draft library networking 7
of library a_m:l information science (A} Information and compute
national policy 7 ;
(A) Indian Library Association nelworkng
(B) (Indian Association of Special (B) Computer network
Libraries and Information Centres (C) Traditional network
{EJ Indian Association of Teachers in (D) Information network

Library and Information Centres
(D) Rajaram Mohan Roy Library | 198, Who was the second person with

Faundatian Ranganathan who did efforts for
185. Where Rajaram Mohan Roy Library setting up ILA ?
Is situated ? (A) Vishwanathan
(A) Delhi (B) P.N.Kaula
(B) Ahmedabad
(C) Calcutta (C) Keshavan
(D) Bangalore (D) Bulner
g 186. Which law of library science is 200. Which one is the library association
satisfied by organising extension of international level 7
sarvices 7
A} LA
(A) First law A
(B) Second law (B) BLA
(C) Third law {C) ALA
(D) Fifth law : (D) IFLA

A= -46-




